
1/4 

Seat No.: ________                                                     Enrolment No.______________  

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING – SEMESTER-I EXAMINATION –Summer- 2019 

 

Subject Code:3300008 Date: 03-06-2019  

Subject Name:Applied Mechanics  

Time:10:30 AM to 01:00 PM  Total Marks: 70 

 
          Instructions: 

1. Attempt all questions. 

2. Make Suitable assumptions wherever necessary.  

3. Figures to the right indicate full marks.  

4. Use of programmable & Communication aids are strictly prohibited.  

5. Use of only simple calculator is permitted in Mathematics.  

6. English version is authentic. 
 

Q.1  Answer any seven out of ten. દશમ ાંથી કોઇપણ સ તન  જવ બ આપો. 14 

 1. Define kinematics.  

 ૧. ક ઇનમેટિક્સ નન વ્ય ખ્ય  આપો.  

 2. What is the difference between mass and weight.  

 ૨. દળ અને વજન વચ્ચે શુ તફ વત છે.  

 3. What will be the value of resultant force for system of forces which is in 

equilibrium? 
 

 ૩. સમતુલનમ  રહેલ  બળોનન નસસ્ટ્મ મ િે પરીણ નમ બળ નુ મુલ્ય શુ હશે.  

 4. What is a difference between centriod and center of gravity.  

 ૪. સેંટિઓડ અને ગુરુત્વ કર્ષણણ કેન્દ્ર વચ્ચે શુ તફ વત છે.  

 5. Define angle of friction and angle of repose.  

 ૫. વ્ય ખ્ય  આપો ઘર્ણણ નો ખુણો અને  ટરપોસ ન  ખુણ  મ િે.  

 6. Give formula for velocity ratio for double purchase crab winch.  

 ૬. ડબલ પરચેસ ક્રેબ વવાંચ મ િે નવલોનસટિ રેનશયો નુ સુત્ર આપો.  

 7. Define energy.  

 ૭. ઊર્જણ નન વ્ય ણખ્ય  આપો  

 8. State the law of polygon.  

 ૮. બહુકોણ નો નનયમ આપો.  

 9. Enlist the laws used to analysis the concurrent coplanar system of forces.  

 ૯. સ ાંગ નમ સમતનલય બળો નુ નવશ્લેક્ષ્ણ કરવ  મ િે ઉપયોગમ  લેવ ત  ક યદ ઓ ની સૂનચ બન વો.  

 10. 1 MPa = ______N/mm2.  

 ૧૦. 1 MPa = ______N/mm2.  

    
Q.2 (a) Find efficiency for a differential wheel and axle whose diameter of effort 

wheel is 40cm and diameter on load wheel are 25cm & 15cm. The load of 

2050gm lifted at a effort of 1.15Kg. 

03 

પ્રશ્ન. ર (અ) ટડઇફ્રાંનશઇય્લ નવનહલ અને એક્ષ્લ નન ક યણક્ષ્મત  શોધો જો એફોિણ નવનહલ નો વ્ય સ ૪૦સેનમ અને 

લોડ નવનહલ નો વ્ય સ ૨૫સેનમ અને ૧૫સેનમ હોઇ. ૨૦૫૦ગ્ર મ નુ વજન ૧.૧૫ ટક.ગ્ર મ નથ 

ઉચક ય ર્જય છે. 

૦૩ 

  OR  

 (a) Expain that increase in kinectic energy is equal to work done. 03 
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 (અ) ક ઇનેમેટિક ઊર્જણ મ  થતો વધ રો થયેલ ક ય ણ ની સમ ન છે તે સમર્જવો ૦૩ 

 (b) At excavation site for a well the bucket is lifting soil having a weight of 

108Kg, the rope length is 20m from the ground to the bottom of well and it’s 

weight is 75Kg/m. Calculate the work done in lifting one bucket of soil from 

well. 

03 

 (બ) કુવ  મ િે સ ઇિ પર ખોદક મ સ્ટથળે ૧૦૮ ટક.ગ્ર મ વજન મ િી બકેિથી ઉચક્વ  આનવ રનહ છે, 

બકેિ ન  દોરડ  નો વજન ૭૫ ટકગ્ર મ/નમ જે કુવ  ન  તનળયે નથ ગ્ર ઉંડ ન  સમતલ સુનધ નન 

૨૦નમિર લ ાંબ ઇ નુ છે. એક બકેિ ઉચ્ક વવ  મ િે થત  ક યણ નન ગણનત્ર કરો. 

૦૩ 

  OR  

 (b) Explain the law of conservation of energy and different form of energy. 03 

 (બ) ઊર્જણ ન  સ ાંરક્ષણનો નનયમ અને ઉજણ ન  સ્ટવરૂપ સમર્જવો. ૦૩ 

   (c)  A water is pumped from a ground tank to the top of building at a height of 

15m in 25minutes in overhead tank of capacity 12000 liters. Find how much 

horse power in pump is required to pumped the water. 

04 

 (ક) ૧૨૦૦૦ નલિર નન ઓવરહેડ િ ટક મ  ૨૫ નમનનિમ  ૧૫ નમિર નન ઉચ ઇ એ ગ્ર ઉંડ િ ટક થી 

િોચ પર પ ણી પ ાંપ કરવ મ  આવે છે. પ ણી પ ાંપ કરવ  મ િે કેિલ  હોસણ પ વર નો પ ાંપ જોઇશે તે 

શોધો. 

૦૪ 

  OR  

 (c) Explain the procedure for finding out law of machine. 04 

 (ક) મનશન નો નનયમ શોધવ  મ િે ની પ્ર ક્રીય  સમર્જવો. ૦૪ 

 (d)  Find the support reaction for a beam shown in fig.1 04 

 (ડ) આપેલ ટફ.1  મ  નબમ ન  સપોિણ રીએક્શ્ન શોધો. ૦૪ 

  OR  

 (d) Find the support reaction for a beam shown in fig.2 04 

 (ડ) આપેલ ટફ.2  મ  નબમ ન  સપોિણ રીએક્શ્ન શોધો. ૦૪ 

    
Q.3 (a) Resultant force for two concurrent and coplanar forces is 74.23Kg acting at 

70˚ with 100Kg of force. Find the magnitude of other force and the direction 

with the 100Kg force. 

03 

પ્રશ્ન. 3 (અ) બે સગ નમ અને સમતલય બળોનુ પરીણ નમ બળ 74.23ટકગ્ર મ છે જે ૭૦˚ ૧૦૦ટકગ્ર મ ન  બળ 

સ થે બન વે છે. તો નબર્જ બળ નન ટકમત અને તેનન દીશ  ૧૦૦ટકગ્ર મ બળ સ થે શોધો. 

૦૩ 

  OR  

 (a) Explain composition and resolution of forces. 03 

 (અ) બળો નુ કોમ્પોનજશન અને રેજોલુશન સમર્જવો. ૦૩ 

 (b) Explain the conditions for equilibrium with sketch. 03 

 (બ) આક્રુનત સ થે ઇકનલનિય્મ નન કનટડશન સમર્જવો. ૦૩ 

  OR  

 (b)  Explain system of units with examples. 03 

 (બ) ઉઅદ રણ સ થે એકમો નન નસસ્ટિમ સમર્જવો.  ૦૩ 

 (c) System of forces is shown in fig.3 which is in equilibrium. Find the 

magnitude and direction of force that make the system in equilibrium 

condition with neat sketch. 

04 

 (ક) બળો ની નસસ્ટિમ ટફ.3  મ  દશ ણવેનલ છે જે ઇકનલનિય્મ મ  છે.તો આક્રુનત સ થે તે  બળ ની કકાંમત 

અને દીશ  શોધો જે આ નસસ્ટિમ ને ઇકનલનિય્મ મ  ર ખે છે 

૦૪ 

  OR  

 (c) State the drawback of the lamis theorem. 04 

 (ક) લ નમસ ન  પ્રમય ની ખ નમઓ આપો. ૦૪ 
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 (d) Find the resultant force for the system of forces shown in fig.4. and locate  it 

distance from point A as shown in figure and at what angle it acts. 
04 

 (ડ) બળો ની નસસ્ટિમ આક્રુનત.4  મ  આપેલ છે તેમ  ઉત્પન થતુ પરીણ નમ બળ શોધો અને નબન્દ્દુ A 

ન સાંદર્ણ મ  તેનુ અાંતર અને ખુણો શોધો. 

૦૪ 

  OR  

 (d) Buckets of different weight are hooked on a wire as shown in fig.5  Find the 

force develops in the different parts of wire ABCD. 
04 

 (ડ) આક્રુનત.5  મ ાં અલગ અલગ વજન ન  બકેિ ને વ યર પર કિાંગ ડવ મ ાં આનવય  છે. તો વ યર 

ABCD મ ાં ઉત્પન થત  બળો ને શોધો. 

૦૪ 

    
Q.4 (a) Explain different types of supports & beam with neat sketch. 03 

પ્રશ્ન. ૪ (અ) નવનવધ પ્રક ર ન  આધ ર અને નબમ આકુ્રનત સ થે સમર્જવો. ૦૩ 

  OR  

 (a) Explain principal of superposition & transmibility of forces. 03 

 (અ) સુપરપોશીશન અને બળો ની પટરવતણનક્ષમત  ન  નનયમ ને સમર્જવો. ૦૩ 

 (b) Find the center of gravity for solid as shown in fig. 6  04 

 (બ) આક્રુનત.6  મ  દશ ણવેલ સોનલડ નુ ગુરુત્વ કશણણ કેન્દ્ર શોધો.  ૦૪ 

  OR  

 (b) Explain types of friction. 04 

 (બ) નવનવધ પ્રક ર ન ઘક્ષણણ સમર્જવો. ૦૪ 

 (c) Find centriod for a lamina shown in fig.7 about XX and YY axis. 07 

 (ક) આક્રુનત 7   મ ાં આપેલ લેનમન  નુ XX  અને YY એક્ષીસ નુ સેિીયોડ શોધો. ૦૭ 

    
Q.5 (a) Block of weight 105N is sliding in downward direction on incline plane at 

35˚, and the angle of friction is 32˚, string is tight to stop this block to slide 

and it is at angle of 30˚ with incline plane. Calculate friction, normal reaction 

and force develops in the string. 

04 

પ્રશ્ન. ૫ (અ) ૧૦૫ન્દ્યુ વજન નુ બ્લોક નનચે ની તરફ ૩૫˚ ઢ ળ પર સરકે છે અને ઘક્ષણણ કોણ ૩૨˚ છે. ઢ ળ 

સ થે ૩૦˚ એ નસ્ટત્રગ બ્લોક ને સરકતો રોકવ  બ ધેનલ છે. તો ઘક્ષણણ બળ , નોમણલ રીએક્શન અને 

સ્ટિીગ મ  ઉત્પન થતુ બળ શોધો. 

૦૪ 

 (b) Explain procedure to determine mechanical advantage and efficiency for the 

screw jack. 
04 

 (બ) સ્ટક્રુજેક મ િે ય ત્રીક ફ યદો અને ક યણક્ષમત  શોધવ  નન પ્રક્રીય  સમર્જવો. ૦૪ 

 (c)  Describe the scope of Applied mechanics. 03 

 (ક) એપ્લ ઇડ નમકેનનક્સ ન  અવક શ નુ વણણન કરો  ૦૩ 

 (d) Briefly describe what is the difference between speed and velocity. 03 

 (ડ) નસ્ટપડ અને વેલોનસટિ વચ્ચે ન  તફ વત નુ વણણન કરો. ૦૩ 

Fig.1.  

 
Fig.2.
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Fig .3 Fig. 4.  

Fig 5 

 

Fig.6. Fig.7  
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